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Sy o e

We livein a mlddle class neighbor-_____

. There are a lot of modest family’s homes there.

- Which. of the following BEST fits in the above gap?

The new annual Iaw lllcome into effect on New Year’s Day.

Which of the following BEST replacés the undérlined phrase?

B
C
D

[3 ] Read the following:

The law is about to finish very soon
The new law is about to be cancelled

This law is the most important one this year

The students planned to meet a

to discuss the effects of ozone hole on the environment.

Which of the following BEST fits in the above gap?

>

conserves

conserved

Conservation

C

Statlstlcally, our chances of being the

of violent crime are remote.

Which of the following BESTfits in the above gap?

B | robbers

C | hackers

kidnappers
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5 | Read the following:
Food manufacturers use to extend the shelf life of their products and prevent spoilage. |

Which of the following sssrﬁts in the above gap?
IZ. fatty
nutrition

b4
=1

EI carbohydrates

['6 | Read the following:

The man was arrested after being caught red-handed while attempting to ____a theft crime at
the jewelry store.

vwnch of the following BEST fits in the above gap?

take

- bring

EI sentence

7_| Read the following:
She feels sorry now. If only she to what he's saying.

Which ef the following BEST fits in the above gap?

:I listens

:l has listened

. I would Ilsten

TJ Read the following:
Dana, father is a doctor, wants to follow in his footsteps and become a physician as well.
Which of the following BEST fits in the above gap?
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Read the following
The weather wasn't too cold. You have brought your heavy coat.
Whicti of the following BEST fits in the above gap?
A | mustn’t

D | wouldn’t

10 | Read the following:

_ win the race, but she also set a new personal best time in her career.

“Whichof the following BEST fits in the above gap?
both

neither

A
B
C | either

11 | Read the following:

Ifl you well, | wouldn’t believe a word you said yesterday.

Which of the following BEST fits in the abeve gap?

A | don’t know

Iz‘ hadn’t known

D | haven’t known

12 | Read the following:

My mom asked me to use very plates for the party, as we don't have many guests coming.

Which of the following BEST fits in the above gap?

12
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8.1 | Fillin the gaps with wotds-from the list below: (There.isone extra wotd.) (1'mark each)
misplaced/ Illlegible / lead / footprint

ahead - off- on- with

A.  Before the exam, the students centered 4&¥¥ the last chapters of the book.
B. The operation will gow as soon as a suitable donor can be found.
C.  Ali’s tickets cost much less than ours - | think we've been ripped ﬂ_

8.3 | Doasshown between brackets: (2 marks each)

A | The restaurant will prepéi:e thg weddmg orde!ﬁfirst thing in the morning. (Change into passive)

C l As a child, | lived in a house in a rural area. (Rewrite the sentence using “(in which)” )

N vk W A e s E R TR, s e L T
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An expensive blcycle is aIan to thieves.
Which of the following BEST fits in the abavegap?

A | clue
flawless

disappearance

2 | Read the following:
With practice this form of breathing will [l EIIENIN to you.

Whiich of the following BEST replaces the underlined phrase?

L You can start practlcmg thls type of breathmg very soon
C | Start practicing this type of breathing and you will feel fine
D | The new type of breathing is the most important one to practice.

3 | Read the following:
This work is extremely ____-adequate - you'll have to do it again.

Which of the following BEST fits in the above gap?
[A]ir-

C | mis-

D | under-

—-I Read the following:
We're trying to raise money for the needy people, and we're hoping that everyone will ___ generously.

Which of the following BEST fits in the above gap?

A | combine

B | comment

IE congratulate

|
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Read the following:

A committee will the complaints submitted by the workers last week.

Which of the following BEST fits in the above gap?

:_A-_] invest

protect

@ manage

['6] Read the following:
| don't know what this note says - Dad's handwriting is totally !

Which ef the following BEST fits-in the above'gap?

misleading

. | impractical

El underfunded

T] Read the following: ,:
The teacher less homework if the class had finished their assignment.

Which of the following BEST fits in the above gap?

A | assigned
B | would assign

€ | had assigned

T] Read the following:
is sitting opposite us?

Could you tell me the name ofthe boy




9 | Read the following:

23632769 MR. AHMED .

alem neither attended the lecture

sent an apology to the professor.

[&] or
E::l also
[D] both

- Whhich of the following BEST fits in thé abové gap?

['10 | Read the following:

You look exhausted. You

asked for some help. You know, we are always here for you.

Which of the following BEST fits-in the above gap?

ZI may have
must have

[11] read the following:

Dina wished she

her fathér's advice}.She failed her driving test yesterday.

Which of the following BEST fits in the above gap?
[A] followed

could follow

[ | would follow

Unfortunately, Adam is allergic to

food. We can’t eat outdoor.

Which of the following BEST fits in the above gap?
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8.1 | Fill in the gaps with words from the list bélow: (There isione extra word.) (1'mark each)

shortage / vandals / serving / wisdom

A. My father has gained a lot of great SSAS hawy

time in jail for breaking into the bank, the two men were released.

ahead -to — on —-in

A. The negotiations will come ‘@n end unless someone comes forward with a new proposal.

=

Ali's already agreed, but it's going to be harder persuading Hadi to go_JisYy with it.
C. Their biggest competitive advantage is that they excelm manufacturing small, gas-

efficient vehicles at low cost.

8.3 9_%35-9“0y¢n;5etwe.en brackets: 48 _ (2 marks each)

T

A | Christopher Columbus discovered America in 1492. (Change into passive)

America L) A AT CaleleA \

B | He didn’t listen to my advice, so he lost all his money. (Rewrite the sentence using “IF”)

i N s i e\ e T T e Sie s T o e —. ¥ o p— ~ . ’ . ~
A W ‘- n'a \J | ”.\i AR :".‘ £ A '.‘:‘3 ¥ :‘ .wn: “ E “ A ey g A - — . .," B A S L TR &3 TR A

G | Do you know the artist? He painted this masterpiece. ~(Rewrite the sentence using “(who”)

AN . ENOW e At WWg Davnieg
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1 | Read the following:
We always go to hotels on hollday — can't we go camping for, ?
Which of the following BEST fits in the above gap?

A good

certain

:l nothlng

2 | Read the following:
This cake smells a bit rotten- do you think it's
Which of the following BEST replaces the underlined phrase?
E This cake is delicious

[¥] This cake is not good to eat

C | The cake is about to be ready very soon

D | The cake is not the one | ordered for my birthday party

3] Read the following:
We -calculated how long it would take to get there.
Which of the following BEST fits in the above gap?

_:‘_] Read the following:
| had no idea that pollution and building factories are related. Oh well, you

Which of the following BEST fits in the above.gap?

IE life or death

loud and clear

short and sweet
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ke
ICKEI

burglar
El shoplifter

D | murderer

The droughts we’ve been experiencing will make the water worse than before.

Which of the following BEST fits-in the above gap?

[7 | Read the following:

Some urgent messages to all employees by the secretary at the moment.

Which of the following BEST fits in the above gap?

A | are writing
B | have written

A

@ have been written

HEd

8 | Read the following:

Iif only he his new iPhone password. He can’t log into it now.
Which of the following BEST fits in the above gap?

A | couldn’t forget

wouldn’t forget

I—C_:l hasn’t forgotten
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9 | Read the following:

MR. AHMED -~

Alia is the one does most of the cooking in weekends.

Which of the following BEST fits in the-above gap?

be very hungry.

You haven’t eaten anything since yesterday, so you

Which of the fallowing BEST fits in the above gap?

_CJ had to
l__l_): should

11 | Read the following:

if 1 had the chance to go around the world |

to Spain first.

Which of the following BEST fits in the above gap?

Tz—| Read the following:

He has written some articles on the subject, but hardly

Which of the following BEST fits in the above gap?

A | few

of them worth reading.
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8.1 | Fill in the gaps with wordsfromthe list below: (There isione extra word.) (1 mark each)

mismanaged / species/ readership / victim /

A. Young men are more likely to fall A{LEWA to violence.

The magazine has a X85

(1 vark each)

to -for-without - into

A.  When do the new driving laws comem effect? 3

B. She doesn't blame anyone 4§ '_her father's death.

C.  Onedayin August 19734 st

Wwarning, visitors were not allowed to enter the prison.

_(2 marks each) 10

(Change into passive)
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1 | Read the following:
I'm staying in a hotel , | will move to a new apartment next month.
Wiieli of the following BEST fits in the above gap?

A | for good

B | for nothing

C | for a change

El for the time being

['27] Read the following:
My speech has been by the press/by the reporter / by the TV reporter/ journalist.
Which ef the following BEST replaces the underlined phrase?

misled

A

B | misinformed
| € | miscalculated
E misinterpreted

3| Read the following:

This morning's lecture was . | liked it very much; it was only half an hour.

Which of the following BEST fits in the above gap?

A | life or death
B | bits and pieces

C | sooner or later
short and sweet

4_| Read the following:
| am really bored with his end- _____talk with you. All the time he repeats about the same topic.
Which of the following BEST fits in the above gap?
Al-y
B |-ing

[_EI -ous
-less
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Eifﬂ Read the following:

New evidence has recently [Selul=R(HIl:{s1¥

Whichof the following REPLACES the undérfmed phrase?

A | The new evidence has become easy
| The new evidence has become known
'T.The new evidence has become a dream
D | The new evidence has become available to be used

6 | Read the following:

The young thief was to four years' labour for his crime./ to life imprisionment

Which of thé following BEST fits in the above gap?
[I_\_—J taken
. brought

committed

m sentenced

[7 | Read the following:

Please Mum, I watch the film tonight? | have finished all my homework.

Which of the following BEST fits in the above yap?

may

must

C | should
D | would

8_| Read the following:

Do you have advice for me, dad? I’'m going to start my new business soon.

Which of the following BEST fits in the abave gap?

lZ any
[B]

alot

C |afew

w)

many
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Read the following:
Not only Ali also her brother loves skating.

Which of the following BEST fits in the above gap?
Alor

[Z but
EI nor

D |and

[107] Read the following:
A daily intake of vitaminC____ g
Which of the following BEST fits in the above gap?

A | is recommended

__to myson by the doctor yeaterday

was recommended

C | will be s recommended
[EI has been recommended

—E—| Read the following: ,
He the car if he had been more careful.

“Wiich of the following BEST fits in the abave gap?
A | didn’t crash

hadn’t crashed

l_?_l wouldn’t crash
wouldn’t have crashed

EI Read the following:
Excuse me everybody! oo e
Which of the following BEST fits in the above gap?

phone is this? | found it in the car park.
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8.1 | Fill in the gaps with words:from the list below: (There.is otie extra word.) (1'mark each)

trace / adulthood/ cope /delay

A. symptoms persist, consult a doctor without (\e_\oA\

B. s there a cut-off point between childhood and gAuS&hggA ? 3

C. We needed to reskill our workforce to [ ¥g with massive technological change.

8.2. | Fill in the gaps with the suitable prepositions: (1 mark each)
on —away -into - out -
3

A. Whether or not we go to Qatar to watch The World Cup depends _a¥\ the cost.

B. The advertising campaign intentionally misled consumers_m_ buying fake products.
(€5 How did you find g"g the solution for this mysterious case?

8.3 | Do as.shown between brackets: _ (2 marks each)
A | People believe that the criminal escaped through the back window:. (Change into passive)

B | There aren’t a lot of things to do in a village. (Rewrite using ; (much) )
_ ORete it waeh Yo dem avillade.
d
C I If only | (train) for the last match. | can’t believe | lost. (Correct the verb)

\MAAm;n ed

D | The doctor was very gentle. He examined my child yesterday. (Rewrite the sentence using “(who)” )

; ; Y ! H ! ! q' V E g .

E | It is advisable for you to see a doctor soon.You look unwell. {Rewrite using ; (should) )

Yo shouwld see adadlar Sean Yo \ask unwel .

b
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"1 | Read the following:

7 It is always said that prevent- _______is better than cure.
Which of the following BEST fits in the above gap?

A | -ed

Zl -ion

[c] -ty

E -less

[2] Read the following:
With all the load of schoolwork and the approach of exams, Salem feels like he is hardly able to

Which of the following BEST fits in the above gap?

A | jump the gun
B | skate on thin ice
C | show himself the ropes

E keep his head above water.

—3—] Read the following:
The consumer is definitely being off with regard to food prices.

Waich of the following BEST fits in the above gap?

E] fooled
ripped
FE— misled

D | cheated

TI Read the fo"owing:

He cares about his job , but his family comes

Which of the following BEST fits in the above . gap?

first
B | naturally

@ into effect

E into effect

b .g
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5 | Read the following:
: - t:auses the habitat loss for_many animals for the sake of wood.
Whichof the following BEST fits in the above gap?

E\:] Ozone ole

Toxic waste

C | Soil erosion
@ Illegal logging

6 | Read the following:
The detective worked tirelessly to the case of the missing diamond necklace.
Which of the following BEST fits-in the above gap?

Z solve
. attempt

commit

D | disappear

7 | Read the following:

Althoughhehad __ experience in the field, he could achieve success in no time.
Whichof th&fo"nw:ng BEST fits in. the obove gap?

E‘ no

(B any

C
E little

—B_I Read the following:
Sarah knew she have trained well before attempting the marathon; She feels sorry.
Which of the following BEST fits in the above.gap?

IE must
can’t
should

D | needn’t

A .%I
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Read the following:
It too late now; if | late, | could go shopping to buy what | need.

Which of the following BEST fits in the.above gap?

10 | Read the following:
| don’t like my new shirt; if only |
Which of the following BEST fits in the above gap?

|Z| bought

can buy

EI would buy

@ had bought

the red one.

11 | Read the following: >
| visited the site one of our great battles took place.

Which of the following BEST fits in the above gap?

—1?| Read the following:
| didn’t realize that my conversation with the shop’s manager

when | phoned to complin.

Which of the following BEST fits in the above gap?
A | will be recorded

is being recorded
El has been recorded

was being recorded
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8.1 | Fillin the gd ps with words from the list bélow:

for certain / underfunded / for the best / cheating

) (1 mark each)

A. Endinga relationship, especially with a friend, is always hard but in this case it's M@_

B. He was accused of _C thS\he people out of their money. bes 3

C. Our education system is seriously wnAex - . Money is needed urgently to reform it.
Funded

(1. mark each)

at-on-in-for

A.  The parents were not to blame k[ the tragic death of their son.

They dare not play joke @Y\ him in case he becomes angry.

C. Sleep deprivation can result ig mental disorders.

8.3 | Po.as'shown between brackets:

(2 marks each)

A | Experts say that global warming causes the rise in sea levels. (Change into passive)

B | The teacher was upset as hardly any students were able to solve the mathematical problem.

(Rewrite using ; (very few) )

Cﬁc‘\(—cgc\ﬁgf'ggo\.& %S;; oS \\gx% Egm S&MAggs ggg_&,&g s, Q‘SQQ b

C | My brother broke his leg and missed the final match. (Rewrite using ; (If) )

1 e~ . y -
D | Neither | nor my brother A[;ﬂ &g_; (drink) coffee. We prefer tea. (correct the verb)
E | Parking is not allowed here. There is “No Parking “sign. (Rewrite using ; (mustn’t) )

\ 8 = « 1 1

\ i




MR. AHMED -

12 33632769
"1 | Read the following:
Many processed foods contain to extend their shelf life and prevent spoilage.

Which o the ollowing BEST it i the above gap?

R

D | carbohydrates

—2‘| Read the following:
Despite the financial challenges, Ali managed to by working multiple jobs and cutting back

on expenses.
Which of the following BEST fits.in the above gap?
A | jump the gun

B | skate on thin ice

C | show himself the ropes

—

3] Read the following:
There is a growing

that people whose diets are rich in vitamins are less likely to develop

some types of cancer.
Wiich of the following BEST fits in the above gap?
A | clue
B | efforts
D | attempt
—4_1 Read the following:
for various tasks such as cutting rope,

During the camping trip, the knife proved to
opening cans, and even fixing a broken tent pole.

Wiich of the following BEST fits in the above gap?

A | come naturally
B | come to terms

P e AR R

come into effect
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The bathroom lacked hair conditioner and many other that good hotels provide.

Which of the following BEST fits in the above gap?
IZI here or there

B | sooner or later

D | short and sweet

6 | Read the following:

An animal conservation approve of experimenting on animals.
Which of the following BEST fits-in the abeve gap?

B | -less
C | -dom

I_p__l -ship

7 | Read the following:

We're going to Andreas's Boutique to pick out something original for
Which of the following BEST fits in the above gap?

B | none

of us.

neither

:‘ whether

8 | Read the following:

Mrs. Dima needs help getting her groceries home.
Which of the following BEST fits in the ahove.gap?
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9 | Read the following:

| wish you talking to other people about my personal problems.

Which of the following BEST fits in the above gap?
_l stopped
. could stop

:I has stopped

[101] Read the following:

If | were you, | to study for the test.

Which of the following BEST fits-in the above gap?
E won’t wait

C | wouldn’t have waiting

D | wouldn’t have been waited

—1T| Read the following:

The artist, paintings adorned the gallery walls, captivated everyone with her vivid imagination.
Which of the following BEST fits in the above gap?
A who

:I WhICh
l: where

fl Read the following:

The toxic wastes to have originated from the industrial complex upstream.

Which of the following BEST fits in the above gap?
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8.1

ill in the gaps with words from the list bélow: (Thére is.one éxtra word.)
Spill / freedom / efforts / flawless

{1 mark each)

3

C. Despite thqmgaf the United Nations, the problem of drug traffic continues to grow.

8.2. | Fill in the gaps with the suitable prepositions: (1 mark each)

to—with-in—on

A. The couple agreed never to refer &_ that matter again. 3

B. I once played a prank Z8¥\  my friend by putting a fake spider in their desk drawer.

C. The murderer has been given until noon today to turn himself&sto the authorities

_ (2 marks each)

(Change into passive)

R tesouces”
D I I drank six cups of coffee, that’s why I didn’t sleep well last night. (Rewrite using; (If) )
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1 | Read the following:
The professor tried to get everyone to L
Which of the followitig BEST fits in the above gap?

in the discussion of the lecture.

A | cope

relate

C | depend

i participate

2 | Read the following:
I'm enjoying my English course these days, but it's about to
Which of the following BEST fits in the above gap?

A | come to light

B | come naturally
come to an end

| D | come into an effect

T_] Read the following:
He was released from prison after two years of a five-year sentence.aS>

Which of the following BEST fits in the above gap?

E taking
@ serving

C | robbing

D | kidnapping

Tl Read the following:

After moving to the countryside, they decided to quit city life for
Which of the following BEST fits in the above gap?

IZl best
EI good
:I certain
[il certain
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5 | Read the following:
The decision about which direction to take the project next is yours;

Which of the following BEST fits in the abeve gap?
IZI jump the gun

B | show the ropes

__C_—l skate on thin ice

the ball is in your court

51

6 | Read the following:
It was an -official meeting with the staff so nobody wore formal.

Which of the following BEST fits in the abeve gap?
A|lin-

un-
D|im-
ﬁ Read the following:

The moon is a moon whether it shines____
Which of the following BEST fits in the above.gap?

A|or

nor it

B
@ or not
El but also

B—I Read the following:
if1 harder, | would have passed the exam.

Which of the following BEST fits in the above gap?

IE study
studied
E studying
had studied
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9 | Read the following:

Would you like milk with your cereal?

Whichof the following BEST fits in the abeve gap?
IZI few

little

l_?_l many

[ some

| | 10 | Read the following:
Marwan have returned the CD we rented last week. It was on the table, but now it's gone.
Which of the following BEST fits-in the above gap?

[a] can
o2

TI.—I Read the following:

Why don't you cqnsptt J;&&»a someone has experienced the same troubles?
Which of the following BEST fits in the above gap?

who
B

whose

12 | Read the following:

Most important international events in Doha in the coming years.
Which of the following BEST fits in the above gap?
X will be hosted

E is being hosted

@ has been hosted

@ was being hosted 12
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8.1 | Eillin thega ps with words fromthe list b xtra word.)
break / uninformed / childhood / undercooked

{1 mark each)

Y-
A. bc:d‘,%cé potatoes taste unpleasant and can be harmful.

B. Hespent most of his gb‘,SAhggA_ on a farm in Texas. 3

C. Some of the players may, on occasion,m,:mg,mdthe rules and be penalized.
8.2. (Lmiark each)
on — to -from - with
A. The prisoners attempted to escape ii aw\ the high-security prison. 3

B. Itis expected that the new coach will lead the team iﬁ win the championship this year.

C. Theworkerswent _aY\  with their work despite e£snthe power cut.

8.3 | Do.as shown between brackets: (2 marks each)

A | Since World War |, armies have used tanks all over the world. {Change into passive)

Since World War I, tanks A ¢

B | Her four children, without exception, are under the age of five. (Rewrite using; (All))

C | ldon’t have much time so | can’t join a gym. N Rewrite using; (I
| join a gy bl ( g (if)
\Q» D \ LY : \

D | The patient didn’t stay in bed to rest. He didn’t take medicine to get better. (join using(neither-nor)

A

Y hé“cf '
E | It is advisable for you to control your stress levels. q

(Rewrite using; (should) )

Yown Shold Codra) Your s\ress \L\lc\g .
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SR

1 | Read the following:
The police are investigating the.. deaths of children at the hospital.

Which of the following BEST fits in the above gap?

mister

A
B | mystery

D mysteriously

[27] Read the following:

After her release ;|,.. 3LIshe was able to give vital information about her

Which of the following BEST fits in the above gap?

E] shoplifter

D | kidnapper
—I Read the following:

Trying to foresee & Ly the future is a pomt- exercise.

Which of the following BEST fits in the above gap?

IE -ship
. -dom

-ious

4_| Read the following:

| borrowed the car without__, hoping to surprise them with a cleaned vehicle upon their return.

Which of the following BEST fits in the above gap?

A | my parents' fail

B | my parents' delay

@ my parents warning
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5 | Read the following:

| was about to get in trouble for being late, but | when the teacher walked in.

Which of the following BEST fits in the above gap?

A | no sweat

B | skated on thin ice

C | was shown the ropes

6 | Read the following:
The factory had accidentally released a quantity of into the sea.
Which of the following BEST fits in the above gap?

A | acid rain
|2 toxic waste

a illegal Ioggiﬁg
D | carbon footprint

7 | Read the following:

Have they decided _____ i they will come with us or stay home?
Wich of the following BEST fits in. the above gap?

A | either

B | neither

D | not only

_8—| Read the following:
If he near his schools, it would take him 10 minutes to get to it.
Which of the following BEST fits in the above.gap?

is living
D | had lived
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@ Read the following:

The studeqt; asked the e)_(aminer for _time to finish their test.
Which of the following BEST fits in the abeve gap?

[A]any

alot

E(Zl many

D2 much

10 | Read the following:

They have sold their house yet. They only put it up for sale yesterday.

Which of the following BEST fits in the above gap?

oughtn’t

m Read the following:

The mayor honored the officers saved the girl from the muggers. & k) 2L

Which of the following BEST fits in the above gap?

—1_2—| Read the following:

The work by us before yesterday’s sunset.
Which of the following BEST fits in the above gap?

| A] will be finished

is being finished

3,5 & ) .;.ii*"‘g""‘.

@ have been finished
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8.1 | Fill in the gaps‘with words from the list bélow: (There.is oné éxtra word.) (1 mark each)

rain or shine / disability /for the time being / disappearance

A. Amijad lives on M_&_\%because of an accident that left him paralyzed.
22 N
B. Every morning at about 5am, m““} SY Ali leaves his home on his morning run. 3

C. Ilthinkit's best that their parents don't know about the accident, at least notd{

in - on - without - through

All the vehicles in this agency are, &gk exception old, rusty and dented. 3

B. Itis unclear whether the meeting will go 4o, as planned or not. Most members left.

You have to believe _'m_ yourself. That's the secret of success.

_(2 marks each)

B | Experts recommend that people with breathing problems should avoid going out because of

the smog. (Change into passive)

R S R S S

C | He didn’t answer the question because he didn't know the answer. Rewrite usin, H I
8

D | Humans have made technological progress in 100 years. (complete with a suitable quantifier)

E I The thief is obliged to go to the police station twice a week. (Rewrite using; (needs to) )

Al
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1 | Read the following:
Everything happens my mother said whenever | faced disappointment.
Which of the following. ‘BEST fits in the above gap?

E, for free
: for certain

C | for nothing
E» for the best

2 | Read the following:

They will have a party when their sons or daughters
Which of the follawmg BESTexplain the underlined' phrasg/ldmm?

IE their kids are now under 13 years old
B | their kids will have a birthday party next week.

r‘:( they will have a party when any of their kids reach matu rity

D | they will have a regular party to celebrate their kids’ success

“_l Read the following:

The phenomenon when a species numbers are so small that the species is at risk of extinction is
called species

Which of the following BEST fits in the abave gap?

El danger
:I dangerous

C | dangerously

ZI endangered

4 | Read the following:
we all have to face the consequences of our actions.
Which of the following: BESTfits in the above gap?

A | Life or death

B | Rain or shine
E’ Live and learn
Zl Sooner or later

@®
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5 | Read the following:
The provided crucial information to the police, helping to solve the crime.

Which of the following BEST j fits in the: above gap?

E] guilty

vandal

C | burglar

eyewitness

6 | Read the following:
His positive attitude and determination have a significant
Which of the following BEST fits in the above gap?

on the company’s productivityd. ).

A | clue

D | consequences

'—I Read the following: «
| Amazingly, girls were born in the same day and in the same hospital.

Which of the following BEST fits in the above gap?
both

B | none
either

E):l neither

?I Read the following:
if he in Ianguages, he might have done mathematics.

| Which of the following BEST fits in the above gap?

E' didn’t specialize
@ hadn’t specialized

C | weren’t specialized
D | wouldn’t specialize
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Ej _| Read the following:
Our living room has so furniture, there is nowhere to move around.

Whldwf the following BEST fits i in the above gap?

little

- many
. much
[E some

10 | Read the following:
You spend all your holiday money on the first day. You will need some for the rest of the week.

Which of the following BEST fits in the. above gap?

A |can’t

mayn’t

IEI mustn’t
K| shouldn’t

Tlﬂ Read the following:
| My parents live in the same house they bought 50 years ago..
Which of the following BEST fits-in the above gap?

12 I Read the following:
A new planet by British astronomers <l :Lk in 2015.

Which of the following BEST fits in the. above gap?
X] was discovered

. being discovered

C | has been discovered

IEI was being discovered 12

|
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{1 mirk each)

Justice / misinformed / leadership / court

A. Helacks Sggdﬂsh'wualities to start his own project.

B. He has been -h\%:\\\jdmcé_ by members of his own team about the meeting time 3

C. He's threatening to take me to Cnuf‘s for not paying the bill on time.

(1.miark each

out - to—away - off

A. Ithascome f! o light that the suspect was lying to the police. 3

B.  The victim was apparently trying to get Mwhen he was shot.
C.  She claimed that her cousin had cheated her gﬁ_ of her savings.

(2 marks each)

[(Rewrite using; (little)]

O\ :
vy e palice -
C l_lfl (be) a famous actor, | would earn a lot of money. (Correct the verb)

Wexe.

D i Candidates who passed the interview (contact) anext week. (Correct the verb)

E I It is possible that it will rain heavily in the coming three days. (Rewrite using; {may) )

\ v : \ )A.u'i énA\ g
A d

Ve

1S
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The police are doing all they can to bring those responsible for the bombingto— 1
Which of the following BEST fits in thé-above gap?

A | fine
B | guilt

MR. AHMED .

1 | Read the following:

C | court

[27] Read the following:
| Proper

is essential for maintaining g good health and energy levels.
Which of the following BEST fits in the above. gap?

A | fatty

. Calcium
__—] dietician

~-I Read the following:
Having a first aid kit in the car can

during emergencies.

Whichof the following BEST fits in the above gap?
ZI come to end

C | come into effect

IE] come to my mind

4 | Read the following:

Despite his extraordinary talents, he preferred to live an
Which of tkefOHOWing BEST fits in the above gap?

life, away from the spotlight.




.
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[ 5 | Read the following:

During the many people sought &:su refuge 33 in air-conditioned buildings to escape
the scorching temperatures.

Which ef the following BEST its in the above gap?

C | downpour
IE] thunderstorm

G—I Read the following:
Despite @he chaosu-é} around her, Sarah remained
Which of the following BEST fits in the above gap?

-affected, calmly focusing on her work.

Alin-
B |ir-
D | dis-
_7—| Read the following: :
The book is written by various authors, of them are well respected in their field of
expertise.
Whhich of the following BEST fits in the above gap?

nor
C | but

@ also

8 | Read the following:

if he less hard, he might enjoy himself more.
Which ef the following BEST fits in the: above gap?

l__—A_I works
& worked
IE is working

@ had worked
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9 | Read the following:
| only need ; sugar for my coffee, not too much.

Which of the following BEST fits in the above gap?
A | few

E‘ a little

10 | Read the following:
You allow your children some freedom; otherwise, they will resent you.
Which of the following BEST fits in the above gap?

E‘ needs
B

ought

[(zl could

[11] Read the following:
He shared his deepest secrets with a friend with he had a strong bond of trust.
Which of the following BEST fits in the abo ve'.gap?

12 | Read the following:

The new stadium by the time the next season starts.
Which of the following. BEST fits in the.above gap?
A | built
being built
El are being built
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oné éxtra wordy) (1 mark each)

B. He was found ; Cex\  offorgery, so the judge let him free. 3

C. Finally, and mysteriously, the robbers disappeared withouti‘(ck('e

with - to — on - off

A.  Volunteering your time and skills can contribute positively&ypur community.
B. Pleasego deN\ with what you're doing and don't let us interrupt you.
C. My Mum said | had to do all the ironing as a punishment, but I'm hoping she'll let mw

8.3 | Do.as:shown between brackets: _(2 marks each)

A | IfI'hadn't swum in cold water, | SS&WAW N

aNl¢_Beery (notbe)ill. (correct the verb)

B ’ Adam doesn’t eat much meat. He likes vegetarian food. (Rewrite using; (hardly )

D

E I People say that exercise and a balanced diet are essential for maintaining good health.

. « (Change into passive)
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‘1 | Read the following:
Many people accused the government of the environment sector and
indirectly causing the flooding

Which of the following BEST fits in the ebove gap?

A | misleading

mismanaging

C | misinforming

D | misinterpreting

ﬂ Read the following:
Therknown politicia_n received count- letters of support while in jail.
Whichof the following BEST fits in the above gap?

A | -ion

IZ -less

-ance ' /

El -ious %

_?7-| Read the following:

After missing multiple deadlines, he's with his boss.
Which of the following BEST fits in the above gap?

skating on thin ice

El showing me the rope

C | giving it the best shot

EI going the full distance

T| Read the following:

After failing the exam, she realized the importance of studying regularly.
Which of the following BEST fits in the above gap?

X live and learn

trial and error

B
C | sooner or later
D

short and sweet
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'5 | Read the following:

If you're lucky you'll get off with a warning, if you're not you'll have to pay a /an :
Wihich of the following BEST fits in the above gap?

fine

effect
E attempt

| D evidence

6 | Read the following:

Thé weather forecast predicts light
umbrella.

Whichof the following BEST fits in the above gap?
A | mist

B | damp

C | humid

!:j showers

throughout the afternoon, so don't forget to bring an

T] Read the following:

| thought she was famous, but of my friends have ever heard of her.
Wehich of the following BEST fits in the above gap?

A |all

B | both

8—_| Read the following:

| almost wish | him to my last birthday party. He doesn’t speak to me now.
Which of the following BEST fits in the above gap?

A | invite

B | invited

& | had invited

_F__l have invited

LN
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9 | Read the following:

She invested a great : of time .and eﬂqrt into completing her research project.
Wichiof the following BEST fits in the above gap?
_ deal -

number
D amount
El several

10 | Read the following:
Dad says we to call a taxi to go to the airport. He will give us a lift.
Which of the following BEST fits.in the above gap?

B | needn’t
El shouldn’t

A don’t have

m Read the following:

If | hadn't turned off my moblle, e your call.
Which of the following BEST fits in the above gap?

A | will hear

am hearing

El would hear

[2X] would have heard

—lfl Read the following:
Our car by the mechanic yet.
Which of the following BEST fits in the above gap?

A | aren’t repaired

weren’t repaired
IEI won't be repaired

[Z hasn’t been repaired 12

@
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8.1 | Fillin the géps with words from the.

simple / readership / ordinary / experiments

A. Despite living a/an@idinestN life, he found beauty and meaning in the simple moments

B. The scientist conducted a series of MIO test the new drug effects. 3

C. The magazine's eyhas steadily increased since the introduction of its new digital platform.
8.2.
to / into /in / off

A. | had to throw away the milk because it went &ﬁ‘ and smelled sour. 3

B. The British team have excelled themselves this year ‘\3» reaching the finals.

C. A programmer had managed to hack: _\Q’E_ some top-secret government data.

m between brackets: _ (2 marks each)

A | If Alice ALA\ , {do) sports regularly, she would feel much better . (correct the verb)
B ‘ I was invited to a lecture last Saturday. | totally forgot about it. [Rewrite using ; (that ) ]

Last Saturday, ~
Y, s i Y e e v é‘g Lf%a‘k anauk:

ek

C | Dad didn’t invite our relatives as well as our neighbors to my wedding. (Rewrite using; (neither-nor)

D | Driving without a license in Qatar is not allowed. (Rewrite using; {(mustn’t)

*Nm&é\ V\:Y c\ﬁ\lt- \:\\Mggl A ACENTE vw Q;Sg(\

E | Everyone knows that car exhaust fumes pollute the air.

(Change into passive)

Car exhaust fumes g fe Xonown Yo \3@\\[:\“& A\ ci\r
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‘1 | Read the following:
I'm done with cigarettes .
Which of the following BEST equadls the underlined phrase /idiom?

| quit smoking forever,

B | | cannot get rid of smoking

:| My business is based on selling cigarettes.
EI Buying and selling cigarettes is really a profitable business.

2 | Read the following:
| was walking home from work when the

began. That's why I'm soaking wet!

Which of the following BEST fits in the above.gap?
A | mist

B | overcast

C | heatwave

m downpour
3 | Read the following:

I don t understand what this handwritten memo says because the handwriting is
Whichof the Jollowing BEST fits in the dbove gap?

illegible

B | irrational

C | unavailable

D | misleading

4_] Read the following:
He cares about his job, but his family comes

Which of the following BEST fits in the above gap?

true




12
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cﬂ Read the following:

| was told she would be at the meeting, but clearly | was -informed.

Which of the following BEST fits in the above gap?

IZ] in-

B | dis-

mis-.
D |il-

6 | Read the following:

Those who

money can do everything are frequently prepared to do everything for money.

Which of the following BEST fits-in the above gap?

K| believe

Dina nor Anoud enjoys cooking.

“Which of the following BEST fits in the above gap?

8 | Read the following:

Irwish |

more organized; | wouldn't waste so much time looking for my keys every morning.

Which of the following BEST fits in the abave gap?
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9 | Read the following:

There isn't __rice in the cupboard. We need to buy.

Which of the following BEST fits in the above gap?

10 | Read the following:

You look exhausted. You have asked for some help. You know, we are always here for you.

Which of the following BEST fits in the above gap?

should

[11] Read the following:

if he asked for my advice, | him what he should do.

Which of the following BEST fits in the above gap?
:I may tell
. would tell

IE] would have told
Fl might have told

[12] Read the following:

The roof by the company worker when the fire started.

Which of the following BEST fits in the above gap?

repaired

. be repaired

[El has been repaired

@ was being repaired 12

LN .@
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8.1 | Fill in the gaps with words from the list below: (There is one extra word.) (1 mark each)

exception / stole/ warning /an end

All good things must come to _a\ QN\

The tsunami that caused mass destruction in Indonesia hit without : 3

Ahmed is in shock because a thief STQ\Q_ his watch while walking home last night.

8.2. | Fill in the gaps with the suitable prepositions: (1 mark each)

from - in — for- with

A.  All students should try to participate N the discussion. 3
The two officers were extremely lucky to escape&wserious injury during the attack.
He has been charged mtealing money from the company, but no evidence has been found
8.3 Do as shown between brackets: _(2 marks each)
A | Ali wouldn’t have made that comment if his brother (Iisten;)—»vto him. (correct the verb)
ﬁ k@l‘%ﬁt&ncé

B | Adam doesn’t eat much meat. Adam’s brother doesn‘;t eat rﬁuch fneat too.
[Rewrite using ;(neither -nor )]

C ‘ | can’t forget the place. | had my first meeting there. [Rewrite using; (where)]

K. Caund k‘%é& e 1(}\0\@ pg'&gege Xa Nmé me &,cﬂ me;gigi '

D | Adam walked ten miles yesterday. | think she was very tired after such a long walk.
(Rewrite using; (must)

AAQm m;és Wonle \;gen ngp_}d ?n‘}gé MQ&QC SMCIA ‘,S&ﬁ wa\\C -

E | They say hot lemon is one of the best remedies for sore throats. (Change into passive)

It ) ‘ (b, S.

(L
|
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‘1 | Read the following:

MR. AHMED -

| learnt how to use this computer program by

Which of the following BEST fits in the above:-gap?
I_A—] here and there

- Live and learn
‘ | Sooner or later

X trial and error

2 | Read the following:

These regulatlons (law\rules) apply to everyone,
Which of the following BEST fits in the abovegap?

IZ‘ without fail

without delay
IE without warning

without exception
_] Read the following:

-funded penSIon plans area growmg worry for many cities.

Under-
_4—| Read the following:

None of our at contacting Dr James was successful.

Which of the following BEST fits in the above gap?

EI mists

attempts

C | indicators

D | directions

®
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5 | Read the following:
The S painted graffiti on the wall of t_he school building.
Which of the following BEST fits in the above gap?
A | burglar
vandal
C | hacker
D | kidnapper

6 | Read the following:

is causing widespread deforestation in the Amazon rainforest.
Which of the following BEST fits-in the above gap?

A | Toxic waste

Soil erosion
C | Water shortage
D | Carbon footprint

7 | Read the following:

____of our cars has enough gas. So, we need someone to give us a lift to the nearest gas station.
Which of the following BEST fits in the above.gap?

A | Any

B | Both

C | Either

Neither

_8_] Read the following:

If Salim the lecture, the professor wouldn’t have been angry with him.
Which of the following BEST fits in the above gap?

| had attend
D | were attending
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) | Read the following:
Anna didn't get @heujob bt_acaus_e she had : previous work experience.
Which of the following BEST fits in the above gap?

IZ_ few

AI| failed his final exam. He have spent so much time playing computer games instead
qf_ preparing for it : :
Which of the following BEST fits in the above gap?

A|can't

B | needn’t

EI mustn’t
E shouldn’t

11 | Read the following:
| can't remember the name of the street | lost my passport.
Which of the following BEST fits in the above gap?

_li—l Read the following:
The number of car accidents to have increased in the last few years.

Which of the followitig BEST fits in the above gap?
[lzl reports
m&reported

C | being reported
IEI will be reported
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e &
i

8.1 | Fillin the gaps‘with words from the list b ,
Jump the gun /showers /simple /No sweat
A. The weather will be cloudy with light ﬁ\l& werS in places.

B. Of course, | can have your car repaired by noon. M 3

C. Theinstructions were written in SQW_\)@SQ English

{1 mérk each)

8.2. _(1.markeach)
in—into — away — to

A. Heserved four years \Y\ prison for robbery. 3

B. She soon began to contribute articles th newspapers and magazines.

C. Millions of people were misled \ﬁ\-a buying these 'low-risk' investments.

8.3 | Do.as'shown between brackets: _(2 marks each)

A | Amal would stay at home if she (not have to) work on Saturday  (correct the verb)

B ’ | broke my laptop. Now, | am late delivering my school project. (Rewrite using ; (1 wish )

'Y.\r\ﬁs\/\ AW Mf\_ W\CA) \a“))‘_ﬁ\\ﬁ'
C | I like Ahmed because not many people are as trustworthy as he is. [Rewrite using; (only a few)]
‘ ust ehs

D | It was very easy for Ali to learn to drive when he was {0 years old. (Rewrite using; {could)

E | Shakespeare wrote Romeo and Juliet a long time ago. (Change into passive)
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"1 | Read the following:
Luckily my bus arrived before | had time to reply.___
Which of the following BEST fits in the above.gap?
A | No sweat!
B | Skated on thin ice

Saved by the bell
| D | The ball is in my court
2 | Read the following:

countries should be assisted by allowing them access to modern technology.
Which of the following BEST fits in the above gap?

E Uninformed
B | Undercooked

Underdeveloped
IEJ Underestimated
—i—l Read the following:

The detective announced the new evidence has recently
Which of the following BEST fits in the above gap?

Z come to light

EI come in handy

IE come into effect

[EI come to my mind

TI Read the following:
His friend's positive encouraged him to pursue his dreams with determination.

Which of the following BEST fits in the above gap?
E‘ result

E influence
Iz' evidence

EI consequences
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'5 | Read the following:

by announcing the exam result before it was fully approved by the schoolboard.
Which of the following BEST fits in the above gap?

jumped the gun

B | showed the rope

C | saved by the bell
D | went the full distance

6 |Read the following:

| am really bored with his boring end- talk with you.
Which of the following BEST fits.in the above gap?

[A -ship

-less

-hood

I_F_l -dom

7 | Read the following:

| have two sisters but _ _______ofthem lives with me.
Which of the following BEST fits in. the above gap?
A | all

B_I Read the following:
| wish |

that yesterday. Dad was angry with me.
Which of the following BEST fits in the above.gap?

I_A—I don’tdo

didn’t do
hadn't done

EI wouldn’t do
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9 | Read the following:

he spent __time prepanng for the exam.
Which of the following QE}T fits in the above gap?
many

- several
( a great deal of
Ej a great amount of

10 | Read the following:

Dad have left his keys at work. He can’t find them anywhere in the house.
Which of the following BEST fits in the above gap?

IZI could

must

[C:l needs to

D | ought to

m Read the following:

The day on they first met turned out to be the start of a lifelong friendship.
Which of the following BEST fits in the above gap?

A | that

B | when
IZ which
D

where

12 | Read the following:

Many unknown mammals to still live in the middle of Asian jungles.
Which of the following BEST fits in the above gap?

A | think

be thought
are thought
I—D;’ being thought
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8.1 e list below: (There.is .) {1 mark each)
preservatives / humid /good/ the best
A. Istill don't want him to go but maybe it’s for ﬁg pest .
B. Iltwas hot'and m_ for both players. They weren’t able to breathe 3
C. wm_ added to food to help prolong its shelf life and prevent spoilage.
35 | 6l T T e -

off/ on / in / into

A. There has been enough death and destruction. Please turn yourself !ﬂ. ’

B. After finishing her breakfast, she went O tostart her daily chores. 3
C. Tourists complain of being ripped ;ﬂ by local taxi drivers.
8.3 | Do.as sliown between brackets: _(2 marks each)
A | If Noah (be) here, he would know what to do (correct the verb)
_ wWas / Wweve
B | Iregret shouting at my best friend yesterday. [Rewrite using; (If only )]

\Q- Q\f\\i\l T ol S\'\G\&m_ét w«é\ \ots_\i &‘\\CV\A \llc 5’tu Q\O:JA ‘

C | The man’s car broke down in the middle of the road. He called the mechanic. [Rewrite using; (whose)]

C\Mt Y& X \ Q
D | You have made so many mistakes in this project because you are exhausted. [Use Modals; (Blaming))]

Yor should wil Nave Leowne sa m% wﬁs'\_q\iq i Ay L o‘.\geék ,

E | The government must do something about the problem of littering in the city.

SOM‘\)'\"ﬁ aouk ‘ (Change into passive)
@c \‘“O\S\QM QQ \\\'\QG““\’\J N SA'\QCJS;:) MU _3*‘ \ae A-BV\Q s
10

LY
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j Sta

"1 | Read the following:

Because of the dramatic decrease in sales, Their factory had to close down

Which of the following BEST fits in the. above: gap ?

‘Z for good

[B | for nothing

C | for the best
D | for achange

2~| Read the following:

Regular exercise and a healthy diet are important for the of many diseases.

Which of the following BEST fits in the above gap?

IZI prevent
% prevention

| C | preventive
IEI preventable

3] Read the following:

The is threatening world environment and traditional statues badly.

Whrch of the following BEST fits in the above gap?

acnd rain
B | toxic waste
IEI lllegal logging

D | water shortage
4—| Read the following:

The gained access to the company's database and stole sensitive information.

Which of the following BEST fits in the above gap?

| hacker
g vandal
IEI murderer
LF_I kidnapper

|
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| Read the following:
Nobody thought_ he'd compete that internation'ql boxer for 15 rounds, but he
Whictiof the following BEST fits in the above gap?

I A | jumped the gun

B | showed the rope
C | saved by the bell

went the full distance

6 | Read the following:

These birds seem -affected by climate change. They sheltered in their warm nests.
Which of the following BEST fits in the abeve gap?

[A]in-

] un-

EI dis-

D | mis-

7—| Read the following:
Both cigarettes cigars are harmful to health.
Which of the following BEST fits in the above. gap?

A |or
B | nor

and
D | then

_8—| Read the following:
| bought these trousers yesterday, but | don't like the colour. | wish | them.
Which of the following BEST fits in the above.gap?

Dﬂ don’t buy

E didn’t buy

[ hadn't bought

E] wouldn’t have bought
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9 | Read the following:
They didn’t have —homework in mathematics, so they could practice their hobbies.
Which of the foﬂ.aWhrg \BEST fits in the above gap?

[A]no
few
[ ] little

much

10 | Read the following:
Adam has been studying arts for five years. | am not sure but he have painted this picture himself.
Whic hof the following BEST fits in the above gap?

A | can

B | must
might
| D | should

_iﬂ Read the following:

| can’t forget special moments in hfe I held my newborn baby for the first time ;it was
indescribably precious.

Which of the following BEST fits in the above gap?

[12] Read the following:

| No !etters by the postman since the start of the strike
Which of the following BEST fits in the above gap?

[E delivered

are delivered

El being delivered
have been delivered
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8.1 | Fill in the gaps with words from & he list bélow: (Thére.is.one éxtra word., {1 mark each)
neat and tidy / fatty /leadership /loud and clear I hum;A

A. Hisstrong \%‘} :Pr skills enabled the team to overcome obstacles and achieve success.

B. kwashotand hum_\A_ for both players. They weren’t able to breathe 3
C. Please speak !maé nnc\ so everyone can hear your instructions.
8.2. (1 mark each)
into— of — with - to
A. She was charged _\g_ﬁ_ credit card fraud. 3
B. The contract will come ynwXa effect upon signature.
C. The new law does not refer to land used for farming.
8.3 | Do.as'shown between brackets: _(2 marks each)
A | If1 (have) more free time, | would travel all over the world (correct the verb)
MNad
B | Neither Ali nor Ahmed \é (be) tall. ( correct the verb)
C | I sent you a text message yesterday. Did you read it? [Rewrite using; (which)]
ad A Yead e usssc_g&( Wi T osed N o \{\‘e.g&rig&'?l

‘ Don’t smoke here. There is “No smoking “sign. [Rewrite the sentence using; (mustn’t)]

\’5"\ m\\\\-\ Smm\it \I\Q(‘t

E I The doctors claim/believe that this new technique is a revolution for heart problems.
(Change into passive)

%\i.‘S Q\q:MQA !\;'SSL\RA -\_\g;\ &\/{\5 Ve &Lﬂm;ggg S a e\ Au
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a crime despite knowing it's wrong.

'Un.fortunately, some people choose to
Which of the following BEST fits in the: above g’aﬁ?

@ commit
- Influence

experiment
D | investigate

2] Read the following:
We have to
Which of the following BEST fits in the above gap?

on this project soon; we have no time.

A | jump the gun

B | show the rope
@ skate on thin ice
@ get the ball rolling

—_] Read the following: :
Feeling confident about her decision, she decided to ___with the plan to start her own business.

Which of the following BEST fits in the above gap?

E go off
go along
IE go ahead

|: go through

ﬂ Read the following:
The factory's emissions contribute to air in the surrounding area.

Which of the following BEST fits in the above gap?

A | pollute
B | polluted

pollution
El pollutant
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5 | Read the following:
__is causing temperatures torise globally, leading to more frequent extreme weather events.
Which of the following BEST fits in the above gap?
A | Ozone hole

lllegal logging

I:(Z Water shortage
Climate change

[6 | Read the following:
The company suffered financial losses due to
Which of the following BEST fits in the above gap?

-managing its resources and investments.

7—| Read the following:
Mr. Marwan ___ Mrs. Hazem came to the meeting. Both were busy.

Which of the following. BEST fits in the above gap?

E Either-or

E Neither-nor
@ Whether-or

__D_—l Not only-but also

T] Read the following:
Hamad wishes he
Which of the following. BEST fits in the:abave gap?

EI don’t buy
—__B_—__] didn’t buy
X hadn't bought

EI wouldn’t buy

that car. It breaks down so often and causes him trouble.
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) | Read the following:
Did Shayma give you good advice about your problem?
Wich of the following BEST fits in the above gap?

any
lots
EI plenty
I_F_I several

10 | Read the following:
They left five days ago. You have met them in the park yesterday.
Which of the following BEST fits.in the above gap?

FI Read the following:
rfl o e time yesterday, | would have visited Emma at the hospital.
Which of the following BEST fits in the above gap?

A | had

B | have

DX had had

D | have had

12 | Read the following:
By 2030, most aspects in Qatar Vision
Whr‘sh of the following BEST fits in the above gap?

achieved

- are achieved

EI have been achieved
will have been achieved 12
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8.1 | Fillin thegaps with words fromthe list b IéFe.is.oné éxtra word.

disappeared / speechless / conservation / life or death

A, Jwas sgggch\cgs when | lost the first prize. | couldn’t believe‘\it. 3

{1 mark each)

B. If a nuclear war breaks out, every living thing will be Am‘tm_re_off the face of the Earth.
C. Myuncleis interested in animal Q, Sgﬂg—“ &N and the protection of wildlife.
8.2. (1 mark each

into /out /on /up

Ll twice in one week. 3

A. They held the same bank_U

B. The purpose of the research is to try and finm more about the causes of the disease

C. They asked the coach of the team to comment__© Y\ _the performance of the team after the match.

_(2 marks each)

[Rewrite using; (If]]

squ\d owd Suclh anicCe Car:

B | He is an excellent teacher and famous writer as well. [Rewrite using; (not only )]

Ye g e\lew ee ok ol

C I We went to the cinema and enjoyed watching a nice action film there. [Rewrite using; (where)]

N&\ucﬁ. Xa ﬁg Cine moh gb&gm we enég}ég\ ;.m;tg\mma. gm;a. aéﬁ M Z‘,XM.

‘ Wearing white thobe is obligatory for all boysstudents in Qatar.  [Rewrite using; (have to)]

M&Mc wear e Yhshe .

E I Itis believed that the thieves have left the country.  [Rewrite beginning with; (The thieves)]

The thieves ege \ne\iened ¥a Wave \eBX Mae Cmut\_«\é‘ :
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1 | Read the following:

[)éspi;e facing financial difﬁculties, she managed to
Whiich of the following BEST fits in the above gap?

by working multiple jobs.

| A | go the full distance
B | save her by the bell
C

the ball is in her court
keep her head above water

—2—_| Read the following:

A group of are working to protect and preserve natural habitats and endangered species.

Which of the following BEST fits in the above gap?

El conserve
conservation

EI conservative

IZ[ conservationists
3 | Read the following:

. He looks healthier now.

After years of struggle, he finally quit smoking for
Which of the following BEST fits in the above gap?

good
B | nothing
IEI all 1 know

D | the time being
_4_| Read the following:

The only to the identity of the murderer was a half-smoked cigarette.

Which of the following BEST fits in the above gap?

clue
B | attempt
IE‘ influence

I:Iil consequences

LS
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'5 | Read the following:

Every single second could mean for a person trapped ==« the debris. Adaally

Which of the following BEST fits in the above gap?
E rain or shine

life or death
LT_' here or there

D | loud and clear

6 | Read the following:

Accessibility measures ensure that people with -abilities can navigate public spaces with ease.

Whiich of the fallowing BEST fits in the above gap?

[A] -

B | mis-
"E diSf
D | under-

7—| Read the following:

Dana’s parents are happy to see her. They missed her a lot.

Which of the following BEST fits in the above gap?

both

B | none
C | either

__D—__I neither

'_g—l Read the following:

What | did was right and if | anything else it would have been wrong

Which of the fellowing:BEST fits in the: abave gap?

E‘ do
B | did

-R‘ had done

[D] had had
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9 | Read the following:
There isn't ____milk left in the fridge. We need to buy more.
Which of the foﬂpwi‘ng \BEST fits in the above gap?

few

- little
g much
I: several

10 | Read the following:
Ali attend extra lessons. He has already got good marks in the previous tests.

Which of the following BEST fits in the above gap?

. needn’t

doesn’t have

@ shouldn’t have
El oughtn’t to have

11 | Read the following:
Those believe money can do everythmg are frequently prepared to do everything for money.

| Which ef the following BEST fits.in the above gap?

IZ who

when
[ ¢ ] which
E' where

_E] Read the following:

Currently, some important documents __ by the lawyer for the trial. 1S4

Which of the following BEST fits in the above gap?

IZ] prepared
be prepared
C | were prepared

@ are being prepared 12

1




2 33632769

MR. AHMED -

8.1 | Eill in thegaps with words from theé list below: (There.is.oné éxtra word.) {1 mark-each)

come to terms \ efforts \ damp \ come to light

A. Thegrassis still _§de .We can’t sit.

=

You should put a little more _@ g& Q(‘:‘SS into your business if you want to succeed.

C. Itwas hard to Caamewith his death after all the support he gave to me and the family.

Yo ‘\"e(\ms
8.2. | Fill in the gaps with the suitable ‘prepositions:

(1 mark each)

through \ up \ for \ on

A. She's going Mthe report to prepare for tomorrow's presentation. 3

B. We bought these six chairs, and they gave us the other one k] nothing.

C. The criminal was locked \Ae in prison for the crimes he had committed lately.

8.3 | Po.as shown between brackets:

_ (2 marks each)

A | If it started to snow, children NQASA MEQ {make)a snow castle. {correct the verb)

B | lwishl ak o (eat) breakfast. I'm absolutely starving. (correct the verb)

C | Mr. Ahmed’s company is flourishing. He opened three new branches. [Rewrite using; (whose)]

MV- an - ASh .

D ‘ Ahmed and haven’t solved the exercise. It was too hard.

[Rewrite using; (neither-nor)]

Nedher Amed wer T have sdued Mae eXercage

hes:

E I There aren’t any guests in the hotel lobby at the moment.

[Rewrite using; (no)]

Qhere Al na %\M—Et\ v tho \\a‘\:e\ \ok¥3 c;t Mae \Mamon‘\"
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1| Read the following:

Don't worry. We'll be there

* Whicki of the following BEST fits in the: above gap?

rain or shine
B | here or there
C | bits or pieces
D | loud and clear

2 | Read the following: T would

lfkyou ___meoruse any force, “inform the police.

Which of the following BEST fits in the above gap?

E threat
threaten

E threatened
IE. threatening
3_\ Read the following:

The factory was fined for illegally dumping into the nearby river.

Which of the following BEST fits in the above gap?

:I soil erosion

Z toxic waste

IE' illegal logging

D | carbon footprint

4—| Read the following:
Mr. Ali’s house was i twice while the family was away on vacation.
Which of the following BEST fits in the above gap?
A | hacked

? burgled
El murdered
[El kidnapped
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5 | Read the following:

Since it's my first day on t_he job, could you pleasq
Whichof the following BEST fits in the.abeve gap?
E jump the gun

show me the ropes

E::I save me by the bell

D | go the full distance

around here?

6 | Read the following:
Al Rayya Newspaper reader- has grown to over 15,000 subscribers.
Which of the following BEST fits.in the above gap?

Z -ship
B | -less
C | -hood

El -dom

7 | Read the following:
Unfortunately, S of the answers are right. You have to do them again.
Whichof the following BEST fits in the above gap?

[ ]all

none
both

-s_l Read the following:

if onlyl all the money last week. | am on a tight budget now.
Which of the following BEST fits in the above. gap?
IZ_I don’t spend
B | didn’t spend
hadn't spent

E’ wouldn’t spend
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|9 | Read the following:
Don’t worry. We haye A qud for everyone.
Wiich of the following BEST fits in the above gap?

10 | Read the following:
go to bed early tonight because | have an early meeting tomorrow.

Which of the following BEST fits-in the abeve gap?

_T_I could
has to
I_El needs to

ought to

[11] Read the following:

Would you be scared if someone
Which of the following BEST fits in the above gap?
A |try

B | tries

tried

[I):I trying

TZ] Read the following:
It that this medicine can cause many harms to patients

Which of the following BEST fits in the above gap?

A | believes

to rob you?

is believed
_?_I has believed

EI being believed
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8.1 | Fillin thegaps with words from the .) {1 markeach)
heatwave / court/ a prank /ropes

A. I've helped him in every way | can —the ball's in his ( :eur's now.

B. They were playing Q‘}TCM\\( on their friend by hiding his car keys. 3

C. During theM, people were advised to stay hydrated and seek shade to avoid overheating.

wWane
8.2. | Fillin the gaps with thie Suitable prepositions: TR markééé*E'
h 3

for-to- on -in

A. That key will come !‘V\ handy if you lock yourself out.
B. The discussion centered o\ reducing waste.

C. This case will end only when the guilty are brought ‘b_-, justice.
8.3 | po.as shewn between brackets: _(2 marks each)
A | I gotup ate so | missed the school bus. [Rewrite using; (If )]

B | My brother doesn’t eat much meat because he is vegetarian. [Rewrite using; (hardly )]

N wrater YordW o \a Ly N

(8 | The Ritaj Al Rayan Hotel is opening up again. | stayed there a few years ago.[Rewrite using; (where]]
A ote 5.
=90 t\mwn\lh g am -
D | Wearing school uniform isn’t obligatory for students duririg the school trip. [ Use; (don’t have)]

T T W ;..,‘m;a Mg s chygal 1]

E | A stranger hit my car from behind yesterday. It wasn’t my mistake. (Change into passive)

N\‘\’\) Cog ubotg\;\):\ Qc\mfvx \t\«xw\\ \&Jg&(c\m\)\ \s\\\‘ A g\_(ow\b\\‘t(‘-
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‘1 | Read the following:
Let's make this meeting ; | have important things to do later today.
Which of the following BEST fits i in the above-gap?

A | neat and tidy
B | loud and clear

C | bits and pieces
B short and sweet

2—| Read the following:

are working to improve the quality of our lakes and rivers.
Which of the following BEST ] fits in the above.gap?

A | Environment

B | Environmental
C | Environmentalism
|Z Environmentalists

[37] Read the following:

Food ____ are substances added to food to preserve flavor or enhance its taste and appearance
Wh:ch of the following BEST fits in the above gap?

A | diet

B | calcium

I:(zl nutrition

‘add itives

T-I Read the following:
If it wasn't Ali's fault, why was | s _him?
Which of the following BEST fits in thé abovée gap?

IZI solving
E] serving

blaming

D | investigating
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The victim decided to take the driver to for damages caused by the accident.

Which of the following BEST fits in the.above gap?

IL, justice

D | evidence

6 | Read the following:

Unfortunately, the human body is essentially defence- against these metals.
Which of the following BEST fits in the above gap?

El -ship

B -less

€ | -hood

@ -dom

7 | Read the following: :
of my friends know English very well. I am not afraid to travel to London with them.
Whichof the following BEST fits in the obove gap?

C | Neither
D | Whether

_8—] Read the following:
She wishes she what her mother had asked her. She is angry with her now.
Which of the following. BEST fits in the ghove. gap?

Izl do
did

would do

. had done
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9 | Read the following:

our vacation more if the weather had been sunny.
Which of the following BEST fits in the above gap?

E. enjoyed
had enjoyed

EI would enjoy
would have enjoyed

10 | Read the following:

| borrow your pencil for a moment?
Which of the following BEST fits.in the abeve gap?
May

. Must
EI Need
:I Ought

[11] Read the following:

She finally found the book she had been searching for all week.
Which of the following BEST fits in the above gap?

A | who
B when
X | which

| D where

12 | Read the following:

[t that he the president will be attending the next Education Conference.
Which of the following BEST fits in the above gap?

l: thinks
ZI is thought

L?_I be thought
E being thought
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raword:) (1 mark each)

irresponsible/ result/influence /balanced

My teacher's great ‘\v&\ue nle made me study science at college.

B. It would have been ‘ﬂ !CSQ- to let your wife drive home when she was so tired. 3
C. Eatinga/an Qg\gng&diet is important for maintaining good health.
8.2. | Fill in the gaps with the suitable prepositions: (1. mark each)
on / from / ahead/ up
A. A few shots of this drug s\sacleared gLQ the disease for good. 3
B.  The guards thwarted lzx>This attempt to escape ?—TGN\ prison.
C. The operation willgo_ &\ as soon as a suitable donor can be found.
8.3 | Do.as:shown between brackets: _ (2 marks each)
A | Idon’t have enough money so | can’t buy what | want. [Rewrite using; (If)]
W qvt j
B | I have no information about this issue. [Rewrite using; (any)]
v\i Ne 3 o : .
& l Mozart was a talented musician and a skilled writer. [Rewrite using; (not only)]

N\G'ZQI‘Y wWany nak GY\\“\\I m\a&cﬁ gA Msicm\ A \aul CASQ q,SL\‘“gA m};ﬁf'

D | You got low marks because you didn’t study well for the exams. [Rewrite using; (should have)]

Nor shand hante Stindied wel Yer o < Xams:

E | Several witnesses saw a UFO yesterday evening. (Change into passive)

(\_\L‘;c\ Wag Sten dts)tcrc\ad AN CNON .
N J )
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1 | Read the following:

If atypeofan animalora plant might stop existing because there are only a few of
that type alive this means they are endangered
Which of the following BEST fits in the above gap?
A | waste

X species
C

D

footprint

shortage

2 | Read the following:
| He hoped to the position of the sciences in the leading universities
Which of the following BEST fits in the above gap?

Strong

A
strength

E strengthen

E_I strengthless

T] Read the following:

The police found that the old man was too weak to the robbery and run away in
a stolen van.

Which of the following BEST fits in the above gap?

A | serve

B | burgle

g commit

D | sentence

4 | Read the following:

It doesn't matter what you wear, as long as you look
Which of the following BEST fits in the above gap?
E rain or shine

neat and tidy

C | bits and pieces

D | short and sweet




wu\

12 33632769 MR. AHMED -

Read the following:
They were , publishing the exam result before it had been confirmed by the school administration.
Which of the following BEST fits in the above gap?

A | showing the ropes

saving by the bell
@ skating on thin ice
D | going the full distance

6 |Read the following:
Although his composition was flaw- , the teacher was always caviling at (- < s33his handwriting.

Which of the following BEST fits in the above gap?

lz, -ship
m -less

n -hood

D | -dom

7] Read the following:

The moon is a moon whether it shines

Which of the following BEST fits in the above gap?
A|or

B | nor

or not
D | but not

—{I Read the following:

If only you making noise. I'm preparing for my final exam. This annoys me a lot.
Which of the following BEST fits in the above gap?

EI stopped

B | stopping

could stop

C
would stop
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9 | Read the following:

e

Can you help me? | need advice.
Whictiof the following BEST fits in the.above gap?
E no

few

some

EI many

| Read the following:
Suentists have solved the reason behind the Covid 19. Facts still unconfirmed.

Which of the following BEST fits-in the abeve gap?

may
must

should
ought to

o][~][=X]

1—1| Read the following: :

if we lived Zoo‘yearf ago,we __any computers.
Which of the following BEST fits in the ebove gap?

IZI won't have

| mayn’t have

@ shouldn’t have

wouldn’t have

12 | Read the following:
7 terrorists by the police since last week.

Which of the following BEST fits in the above gap?

Iz] are arrested

were arrested
l_?_l will be arrested

have been arrested 12
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8.1 ||

with words from the list nelow: (There.is.one extra word. (1 mark each)
delay /holding/ balanced / trial / trace

Monira Anderson disappeared without _)g YA\ (€ in a snowstorm while running an errand

A.
for her grandmother on 23 February 1957.
. 3

B. A thief ran off with hundreds of pounds yesterday afterhgﬂtgup a petrol station.

C. After athree-month xyel\ period, | was given an appraisal by the managing director.
8.2. | Fillin the gaps with the suitable prepositions: (1 riark each)

through / up / for / away

A. Mr. Ali persuaded the judge not to |ock_\5Q his client. 3

B. It was evident that someone had gone &3 (s%h my possessions.

C. | never saw him until now. ngall | know, he may be writing a book.

8.3 | Be:as shiown betwween brackets: _(2 marks each)

A | 1 couldn’t pay off my debts last month because | was short of money. [Rewrite using; (If)]

AT 1agl marW -

B | Neither the players nor the coach (be) excited about the results. (correct the verb)

LY

\S

& | | gave the parcel to Hazem. It was delivered to his father. [Rewrite using; (which)]

2\ %\.o‘\lQ e \Ymme\ AN wers de\wWeted Ag WaZewts ‘L:démi

o Wazew
‘D | You want your mom to let you watch the film tonight. [Rewrite making a (REQUEST)]

Can | Codd | Mot | MIhI 1 wiakd Ane PRERENE &

E | People think that the new documentary about The Earth Day contains some outdated information.
(Change into passive)

It \d\«m%\zk M We wewd M%%MMM%___'
- Codoms Sove 0\':\&&3 \\&(\(W\;\\M :

k




